®Answer

[BABAL

A bw3L&d

=

IRk BETR

ETSLSU

T - BRESSF (Y AREST)

ﬁbmﬁbx‘
AR

X
J,/b
-~
o
3§
|
}
|
e
|
L

\
KQEIRERUSN
PR S

N QISREPEE 0 VKIS O’

WS L—L—X—piNh

B 61D ER OB

PEPSH IS

SISO LIZ RN O

VN L—L—X—EL

HR2° 0B IERIESH NS

ey S iy YN N NS

R IHESSIINIONSHR

VNN SR INR-

(MHTIEE- 0 k<2 2)

N AT B D
WAV SRR FR TSRS
AL KRS — e —
®— Q1)L QKNP v

2425204 5 AUES S Ao
A A (BEIT) - TETR

=4 Cha il By AN N Ngant-xi B8
e N nn IR AN BTN i) 1 =VINNg
A OEIDRE mE s
FRE F oo <L{SVWIK
4onQ (AUOQR5Q) 1) AUS”
SRR - A AL 1 ) A
SN LD G40
S

REQRQBIRD 1S D
WAL W ED Q
LN R R L Q% | K
55 B ;gL O W7
QRURLRE I e — e —
K= Q U AR XL 571
RSN XELAES S Ao

KEQHNKERD 1IN
NP R~ — QRE
o (NoMm) Fmmm (T
FaNT—mO) - oI m(EE
NIRYM) VLS R H0
SWRY B LBl Q —HE
AL A

\_

42T KE S EEIDR/ T ED
vERwiEomym (Hi-m
o~ ) AU R RKER [P
S (Hh (8RR D ¥ )) QimHE
KRO~-ME] QieIR B L
Rio4-omm (He-m~m)
— MG (H e~ IS m) AP
A"

DCUIAE TR e M VESINN
RO~ — =X —pig
A 5 A S ) A LSSt

L L K=
o AU t6 0

EBUR £—rmm—Y
NIV BRESCRBUREH
AL e | S RERWER S
Q1) A RAS S 1) Q[ |
YT 500 55048l dn 5 %
4SSt S
| BRSO
A B R e = X =
A s HE LD Oy O Y
L= e — K — QPP HINUE
MNIQT = = R — Y ER O
B 25 Hand s 4H407 NI & D
(BERE) &SR —K—
RA v (RR L) 00
L X — R ON SR
T2 o 1@ 1) A D LT A 52 6
B e e
LR — QUKo = F A =
o |2 S0 BRERAS St
SrE” DR 1) AR IR E
R UIONO R RTEEQ
et — X — T8 R SRR - B
B (O R) 400" HES UK
HERVES ORIV RQa" 5
AU O WL — X =3
RO 2 50 QLA YU 8
KNS NI SR PO IR VS I\
SEHUEIERRRRNM AP

RINCER N LN

W REKD” | RU-048507 1
Ao = ROV S Hred s S S
KEERO BROVIL S #1
80 ) AU ETRNU R QR & -0
S00R QU T e
YOV SRR VE S 4
Ao e e = K — O B
SEME (R MA0H0) A S
ok N UKE A1) A
ORI AR Vet

THRARME LM D

ERC U MR- I
BIOQ[ B M40 Q sl
B o R VS Rmw
A48 5 oSS BF AT DB o
N N R TEID R
HA R QIR G EEQ O
AUAL S48 8Q AU 5 41640 1)
SR RSV RHRS
49 © D& 50" [FERIRHE L v
DA S iR A 5 8K
Ao B 5 45 O {2 MR
junf ENL OZNA R SRR TIY  fo JTQ WS

N OKMS BB 4" N
5NN — NN ORI DR
KB EORH SRR Rs”
DEID X 04880 50 R
K4 DAL S A S ST A Ao
[RES S 8B N -
PRAPAR VR R
R D07 4@ 416 P BRI
SSEEARIRIN O\ [EHRARES
YUmys O] QIR 5
I ASPIREB Y VAR S Y
PR LBAVES S Ao’

FESISNR
[ - JmETO1#6 ¢

Lt R — QR 464
ESNE 98- L CENE T g

B Sy ¢ ) ZE A0
1AM B D e E R mE
RS A Sml x4 1 24
YUK QR & 187 L Iml S
RO U VA0 | 2
R EEQ Ol IR E
R ARG V-0 S REE
SHEAL QY S e

[ S - BEID B s )
17000~ [FEHRAKHE I T4
D] QKMo ) Itk Yo 4o shsik
HEEEUARRE o NI
BLORQU B UEO 5 QP
B et T N\
FROVEL S B Qb VR LS
BRIV RAIES S 4
QY EE O L OSN
1)AANARER 5 AL O’
SECE v
O | KR8 1S
YRS HY AR s
AKX AUV RS 5
AN 5048 v E0TR
Ao e e — ) — QR 4
TRV S EIsQ U4
40 S ROV S 425N 1)
ARG R AR S ELEE QD
1250 Q) 4952 0RO O (v

&P R°

=

I 4F B - U Ak I B2 B DML 2 -
M]ZYouTubeThHhbOPTL

8

=

BALTVET [HBDOLED]DAPIRELT. BOTEBLEE L,

[3kB5 5 (DY AFRSF) YouTube D C#E7T]
B TER ZMH[HRIR - 80 KR

FEEILAFALRELRERMES PRI P B R

X/ BPINEF TR (RRES) HRERBHAS EER FMOY-SIF/\—VFUT 1RG5

£
o
2
S
>
=]
z
C
8
~® g
Py
Sy ir =
N H I
8 W 5
a Sk 2
B S
N o
3% I
Ry R e
oo B
go &
Eou0




